
Berechne jeweils das Endkapital Lösung

1) Ko = 1100 € K3 = Ko • q • q • q
Zinssatz = 1,9 % K3 = 1100 • 1,019 • 1,019 • 1,019
Laufzeit = 3 Jahre K3 = 1163,9 €

 
2) Ko = 2100 € K4 = Ko • q • q • q • q

Zinssatz = 1,6 % K4 = 2100 • 1,016 • 1,016 • 1,016 • 1,016
Laufzeit = 4 Jahre K4 = 2237,66 €

3) Ko = 2700 € K2 = Ko • q • q
Zinssatz = 2,1 % K2 = 2700 • 1,021 • 1,021
Laufzeit = 2 Jahre K2 = 2814,59 €

4) Ko = 1500 € K9 = Ko • q^9
Zinssatz = 1,7 % K9 = 1500 • 1,017^9
Laufzeit = 9 Jahre K9 = 1745,74 €

 
5) Ko = 2600 € K8 = Ko • q^8

Zinssatz = 1,7 % K8 = 2600 • 1,017^8
Laufzeit = 8 Jahre K8 = 2975,37 €

6) Ko = 2000 € K9 = Ko • q^9
Zinssatz = 1,2 % K9 = 2000 • 1,012^9
Laufzeit = 9 Jahre K9 = 2226,66 €

7) Sparrate = 320 € K1 = Rate • q = 320 • 1,015 = 324,8 €
Zinssatz = 1,5 % K2 = (K1 + Rate) • q = (324,8 + 320) • 1,015 = 654,47 €
Laufzeit = 2 Jahre

8) Sparrate = 170 € K1 = Rate • q = 170 • 1,03 = 175,1 €
Zinssatz = 3 % K2 = (K1 + Rate) • q = (175,1 + 170) • 1,03 = 355,45 €
Laufzeit = 3 Jahre K3 = (K2 + Rate) • q = (355,45 + 170) • 1,03 = 541,21

9) Sparrate = 240 € K1 = Rate • q = 240 • 1,032 = 247,68 €
Zinssatz = 3,2 % K2 = (K1 + Rate) • q = (247,68 + 240) • 1,032 = 503,29 €
Laufzeit = 3 Jahre K3 = (K2 + Rate) • q = (503,29 + 240) • 1,032 = 767,08 €

 
 

10) Sparrate = 140 € K1 = Rate • q = 140 • 1,018 = 142,52 €
Zinssatz = 1,8 % K2 = (K1 + Rate) • q = (142,52 + 140) • 1,018 = 287,61 €
Laufzeit = 3 Jahre K3 = (K2 + Rate) • q = (287,61 + 140) • 1,018 = 435,31 €

11) Sparrate = 120 € K1 = Rate • q = 120 • 1,017 = 122,04 €
Zinssatz = 1,7 % K2 = (K1 + Rate) • q = (122,04 + 120) • 1,017 = 246,15 €
Laufzeit = 5 Jahre K3 = (K2 + Rate) • q = (246,15 + 120) • 1,017 = 372,37 €

K4 = (K3 + Rate) • q = (372,37 + 120) • 1,017 = 500,74 €
K5 = (K4 + Rate) • q = (500,74 + 120) • 1,017 = 631,29 €
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